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Before filling the OMR Answer-Sheet, the candidate must ensure that all the pages from
1-48 are printed in order in the Question Booklet and ensure that the OMR Answer-Sheet
belongs to him/her only. In case of any discrepancy, immediately inform the Invigilator
to replace your Question Booklet/OMR Answer-Sheet.

IMPORTANT INSTRUCTIONS

Do not open the Question Booklet before 10:00 a.m. in the Examination Hall.

+

4+ Read the questions carefully before marking the right answer with blue/black ballpoint pen only
in the appropriate circle of the OMR Answer-Sheet, as no extra OMR Answer-Sheet will be
provided for any mistake or correction.

4+ There is no negative marking for any wrong answer.

4+ In cases where candidate selects more than one option of a question, the question will not be
evaluated.

4+ In case of use of Non-Standard OMR Answer-Sheet, the candidate must properly write his/her
Roll No., Question Booklet Serial No., Question Booklet Code in the space provided in the OMR
Answer-Sheet by shading and by writing in alphabet and numerical on the front page as well as
on the back page. Otherwise the OMR Answer-Sheet will not be evaluated.

4+ Candidates will have to sign twice, once in the Photo Attendance Sheet presented by the Invigilator
on duty after taking their seats in the Examination Hall, and the other, at the time of handing over
their OMR Answer-Sheet to the Invigilator after the completion of the Examination. Cases where a
candidate has not signed while submitting the OMR Answer-Sheet, he/she shall be treated as absent.

+ Candidate should clearly write his/her Roll No. in the space provided in the Question Booklet.

4+ The candidate should make sure that the Question Booklet No. and corresponding Question
Booklet Code is properly written/shaded in the OMR Answer-Sheet by him/her. For example, in
filling up the Question Booklet Code, if the candidate gets Question Booklet Code ‘A’, then
he/she should fill up ‘A’ in the box provided in the OMR Answer-Sheet and also shade the circle
‘A’ in the OMR Answer-Sheet.

+ Candidate should do all the necessary rough work on the Question Booklet in the space provided.
Rough work should not be done on the OMR Answer-Sheet or on any other paper. If any rough work or
overwriting is done or whitener is used on the OMR Answer-Sheet, the OMR Answer-Sheet will not be
assessed.

4+ In case of any discrepancy or confusion in the medium/version of the questions, the English
version will be treated as the authentic version.

+ No candidate will be allowed to leave the Examination Centre during the examination hours.

4+ Any candidate found using unfair means including carrying restricted items like mobile phone,

calculator or any electronic gadget or objectionable materials, etc., which are not allowed in the
examination halls/rooms shall be disqualified.
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MIFIFE] TFNF 54, NFIFe] 06 OMR Sedoiqq e oize F'a1 s «fam <
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+ 2 W F AFRTS @il [ femte e g @ e Re B 2 S
AFINHIFR AF© W& (o1 oIF F1 27 |

+ A ool Al SRS (I AR ASFPT G AR SREe @l 9279 |

+ APPSR 2 /e R TN @ (NS (I, (PAPCEdT Al (PG 4RO
(e SN 1 Seifesee 9% _reerce Fre Sufe Wl 7=° | W @i A[rwEic o
TR SEeTE 9 A SUS TeEy 1 AR TREPEE Tekdl 99, (9% (96F Sl e
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fomite et wif<eres Harwece wRele FiEc 2o wql OMR Seqed@is qwel 0 (= |

gl et

+ 9 10:00 THFE 7 2e@l [ FHe oA A |

+ OMR Tea°[tad T9MY Jefoce Mel/Fe s o 7=l wa Teai fofee waam 7
s AR T T, FR $&1 =0 A T FR G @l Afowe OMR Teao@ e
=@
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TR FA 7CA

+ Non-Standard OMR ¥@37[@ JRRIGH (FCa ~IFACE IR Slwd @& 754, 2efeam
e T4, TR ol OMR Tedeitad [Me it Fiten Face =4 G2 ANCGH 7ol @
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OMR S@a°[(qd o= Sl 24 1l |
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e 2 corl = | TwrAeEEel, eeiiad (e R TR O, AREE ofew e
@FC ‘A’ 4FE OMR Seaeitas e Fiea ‘A’ forvce =@ @32 e Je ‘A’ Fieen Face
A |

+ A AP AR ACEAE PTU (rough) I AN FSAN T FACS ARCE | AT
T8l (rough) F1& OMR T€7[@ Al 7 (FICN GFCER FMCH FACO AR 11 | I 2[FrFR @2
PTel (rough) ¥ OMR Teg9(q FCa« 1 AWl 98 <2 I+, ©Cd (2. OMR Tex(qq
TR 1 2

+ ATYR WY A AFR (FICA TR SIS =70 WA @R SPR =0 RS ARelbeeg
e wwm 0o AN T =S |

+ ST BOTPS (G RIS “AFICeT el S SRS (e 2 Al |

+ Ao RN 21 /F0F (@l [iEm TN @ (RIRe G, FIRCEDT G9R CPIC
(e smees 1 wefesa N 2oy 92 A SRRNS (redl 7 A1 | ARERIAIoE AW el
BRI TR ST FECS (7)1 A AN SR A Toed e o ez Saee S, wod
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E foamE amE TERifen eFE w T JSTAE e, AW EE e, AN
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+ Hifa foeef TR o w@ify faemef we TFrEt OMR e faemefR semm s
o /e EremaE wrE faerfern den s e SRt eifed, aifa feei
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faemef Sramm ST ‘A’ fE A o s dEa ‘A’ @ M G
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+ foemforern st @ T TEE @A ARAEEE (rough) @R wity faemst gramm
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1. SPTE G@ TSB! (207

(A) IRy TSN (B) I TR

(C) NI TreTe (D) COIBeTII7 eTef
1. SPICHE GG AeTei 20T

(A) wIFERATS) AT (B) I e

(C) Vg TreTef (D) RGBT T
1. AEMH HFE SIEAT &

(A) e S (B) R SRR

(C) TETe™ SRA (D) AT SRR
1. The only plateau in Assam is

(A) Deccan Plateau (B) Karbi Plateau

(C) Meghalaya Plateau (D) Chota Nagpur Plateau

2. fezrfue ifereq FFIfE-2-3EA @o[ (FIACH 961 S A0 BFR7]f T 2

(A) @B I= (B) BSFT AR
(C) T G & (D) RS f[cuE

2. PR eifFeE FiiE-2-2fm M @ B e e 9 gwge)d T2
(A) RIS Ta (B) Zwwige e
(C) T SR S (D) GIRNRAT Rcarz

2. fregfea aiferaf “wrftrn-3-sforn’sn memf a9 snumer fwfommf amam Tm gar?
(A) IREETEH gTEE (B) AR RIS
(C) RIHH SEaRA™ (D) wamafeEn foumrAerEE

2. Fathiyyah-i-Ibriyyah of Shihab-ud-din Talish is an important source to know about
(A) the Battle of Saraighat (B) the Treaty of Yandaboo
(C) Mir Jumla’s Expedition (D) Moamoria Rebellion

3. @ WAIGARE (FIICH1 PN SLeINeq 25 TS ?

(A) (¥ IF AFOF (T (B) RfGw

(C) ferafiererel (D) pfrrf
3. FfRe @M PR Sgiien 24 38 2

(A) (TF @G3R 2ARFRST A (B) Rfoe

(C) ferafiereref (D) PR
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3. AWM @I e gl |/r?
(A) omE IR e e (B) UEMEETE™ (Tourism)
(C) fegams (Manufacturing) (D) 3ATeTE

3. Which of the following is the main pillar of Assam’s economy?

(A) Oil and Natural Gas (B) Tourism
(C¢) Manufacturing (D) Agriculture

4. (T 5T ST 59 (O CHIIRAIANT TARISTTS ool 37 C2f2e ?
(A) 1919 (B) 1999
(C) 1991 (D) 1989

4. “HIfT9[CE SPTCHE 5wel Toel CNLETIANKTD (PR e Ble] 1 B 2

(A) 1919 (B) 1999
(C) 1991 (D) 1989
4. TEMH Y o1E ARG T AEATEHE JHNE T ?
(A) 1919 (B) 1999
(C) 1991 (D) 1989

4. In which year was the fourth oil refinery of Assam started at Numaligarh?
(A) 1919 (B) 1999
(C) 1991 (D) 1989

5. IPINS AT SR T M PTRY (2R
(A) A= B) @®@2
(C) = (D) wEI7TG

5. SPICNE 24 Teoflfre G 3cel

(A) o= (B) o

(C) T (D) I
5. THHE A g wEe smar

(A) w1g B) frg

(C) w=T= (D) e
5. The staple food crop of Assam is

(A) rice (B) wheat

(C) pulses (D) jute
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6. ‘FINAN IR TS

(A) TeTBeT “r2Ie (B) foarer “m2e

(C) R “T2Iq@ (D) 93 9Ble 75y
6. T A TS

(A) TeTDeT 21T (B) fo@me “r=ce

(C) gD ~rziey (D) 9zfm gabe T
6. TS Uit AR BN STal

(A) e =i (B) Trmaa g

(C) wivrget wrsit (D) SIwRE He T8
6. The Kamakhya Temple is situated at

(A) Nilachal Hills (B) Chitrachal Hills

(C) Manikuta Hills (D) None of these

7. N AGEHE IS FoATS (el e 2

() TFEE Pz (B) e Piea
(C) “Fwa Pz (D) oe PrRE
7. S0 G 7 TS (F free 2
() TS Fig (B) e Pica
(C) “Fwa Pz (D) @e PR
7. 3T TSR @ Triear GRaH?
() sEeast fig (B) ke foe
(C) T fore (D) e forg
7. Who was the last Swargadeo of Ahom Dynasty?
(A) Jayadhwaj Singha (B) Chakradhwaj Singha
(C) Purandar Singha (D) Pramatta Singha

8. ‘T@ (MR I =foe e w41 Cafee 2

(A) TS FHAS (B) FCoPeS! FARE

(C) il $4H (D) <@ sz
8. ‘=@ (e I ~fece Coff F1 2fee 2

(A) SRS I (B) FCersa a1

(C) S 3! (D) [ arEfeteTe
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8. WU I/ Wl FAM W&
(A) SEHfd Far TR (B) FoivaR Faii maraifemma
(C) frsrem Faftfy MR (D) Tl TEare MEwiforE
8. Joy Daul’ was built in the memory of
(A) Joymoti Kunwari (B) Phuleswari Kunwari
(C) Ambika Kunwari (D) Rani Gaidinliu
9. FERRS fE=rmza (< o @ Trrere sxiEs w2 ?
(A) Href (B) zf2emee
(C) Ir=E (D) wRele
9. e Tfefe (ermPieas (SR (STl TS ToreraR SR oH 2
() e (B) e
(C) <=« (D) wfHee
9. TEAM & HHHAT s FRAT fofelm A7
(a) i (B) ®rEcrhi<
(C) HBR (D) wieTE
9. Which of the following is not a district of Barak Valley?
(A) Shribhumi (B) Hailakandi
(C) Cachar (D) Morigaon
10. RIS (e e Fofene FUPIRER SRS TN S B FIA1ReT ?
(A) Tl ey (B) Texr=l-=al qren
(C) Tl qTen (D) «3ERT GBS T2
10. foica Tfarfre (e renfs o w® Fefore wubiReed 7kl SIcEN AT WS 20 7
(A) TS Sy (B) Toapi-sfa ey
(C) Tl ATen (D) @R «FHe T
10. TR 36 TS THqd FX14ed 3TEH TESiS| SLSTaari ¢
(A) HEAT T (B) feHmET-FaI TS
(C) el TS (D) HRA AT TST
10. Which of the following Kingdoms was finally annexed into the Ahom Kingdom by Swargadeo

Rudra Singha?
(A) Kamata Kingdom (B) Dimasa-Kachari Kingdom
(C) Dafala Kingdom (D) None of these
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11, SPRE 22No[S] F2e J2a e e 2
(A) CoRWI SICTAIET BIEd (B) ol Fo@
(C) =l Twife (D) (gl YHfe
11. SPICIR 22 Mol g (F foeer 2
(A) CRMI SCARR (OF (B) [coel AN
(C) el Toifs (D) gl YFhe
11. mamfy ffsfim smesh fifs afeen aram?
(A) EET AT 2T (B) Fefl e
(C) A=t waufa (D) e i
11. Who was the first lady Chief Minister of Assam?
(A) Syeda Anwara Taimur (B) Sucheta Kripalani
(C) Nandini Satpathy (D) Mehbooba Mulfti
12. FF AGGIES 251 OF poI-HFIA fohelel A2 IR TRIT°T ~[AfAf1el 91 C2few ?
(A) Fofme TR PR (B) Tofmre *7wa kT
(C) Fofms Mg Pire (D) Fofms zre Pk
12. IF ASTGICE 26 G Del-Afpa el a2 wea 299 7S 2eafee 2
(A) =efre TRRS P2 (B) =sfcre 7w e
(C) ofcre smixg Bz (D) =efcre 2 Pirg
12. AR A 9UE 0@ 391 AR HERS ihaTd SITEHE
(A) Toried Sgeas e (B) Taried goX T
(C) Teried TeR T (D) Triea T« fae
12. During whose reign was the Rang Ghar reconstructed using bricks and mortar?
(A) Swargadeo Jayadhwaj Singha (B) Swargadeo Purandar Singha
(C) Swargadeo Gadadhar Singha (D) Swargadeo Pramatta Singha
13. P SR WE (2R AR (0 O TS 2
(A) TR =, g (B) et s a1, feetam
(C) e far, fofpfem (D) e Ret, wRefre
13. “SIPIN SRR G2 PRI AR (% (IR ST ?
(A) TR e, gmf (B) e faf2s e, Frmmmom
(C) e Rel, fempfn (D) BRe e, qfais
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13. ‘“IAE™ FHATMH AR HA 1 236 =)= Jema g7
(A) fow foe, qarerfe B) i fafe foret, o
(C) Wk fore, fergferan (D) = foat, mfrma
13. Where is the ‘Assam Kayaking and Canoeing Training Centre’ located?
(A) Deepor Beel, Guwahati (B) Pani Dihing Beel, Sivasagar
(C) Maguri Beel, Tinsukia (D) Charan Beel, Morigaon
14. PR ‘ffels affrwe TRIRmEE 4w ¢ w4 2
(A) o (B) Cr@as
(C) 7e (D) forta
14. PR “offer aif¥rsel weifwer’ B e w@iEe 2
(A) 9le (B) ¢S
(C) 7 (D) for
14. TEMMH Gierd BRIATE HRETCTHET 3T HTeETE &7
(A) mE (B) <uTd
(© 3™ (D) fem
14. Where is the Police Training College’ in Assam located?
(A) Nagaon (B) Dergaon
(C) Dudhnoi (D) Digboi
15. ‘ORI SN O TS ?
A) TTF, =P (B) (5155, o
(C) TG, BEED (D) = 'f&, F9MCeTe
15. ‘sERA SRRy’ e wHiEe 2
(A) o, =P (B) oM<, Fifed
(C) e, BE=Ib (D) I, wTsTEe
15. “TRAUMT SRASI 31 qeAE &7
(a) fep, smam (B) Tiew, faferm
(C) TS, ToTe (D) iz, TS
15. Where is the ‘Garampani Sanctuary’ located?

(A) Diphu, Assam (B)
(C) Junagadh, Gujarat (D)

Gangtok, Sikkim
Kohima, Nagaland
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16.

16.

16.

16.

P IEGFETS Sl 2GS BT BICs Il gue FiaRe 2

() e (B) ZEeate

(C) FF7ret (D) SIEIIHT

TR AEGICE DI e R e FThel e GefRee 2

() e (B) ZEqase

(C) ==oIreT (D) ©FI

AR e YA T AT SreEmi RIS |t HHEy Eerthe e ¢

(A)  yfeda (B) WA

(C) TeuraTed (D) TERTEHA

During whose reign did the Chinese pilgrim Hiuen Tsang visit Kamarupa?
(A) Bhutivarman (B) Harjaravarman
(C) Ratnapala (D) Bhaskaravarman

17.

17.

17.

17.

Asian Development Bank-¢ SP® << *feq el I o *f& T THS FF A

CTRERICE R ARSIR 49l SR[we IR 2

(A) 432-25 ffere Te (B) 430-25 ffere wet

(C) 443-25 fufere To™ (D) 43425 fufere Toa

GRRI (TCAPCHD A% FTeeifs BRI ACeH AR *feq el quce R *fe fmrrel Tre Face
F© AR AT SICAe FCACR 2

(A) 432-25 ffer™ Tag (B) 430-25 ffer™ wad

(C) 443-25 fufere et (D) 434-25 fufer e

T BTEET BIEHSTeTE Mard! SeiT S Tial [y SieeT set frm ufiems saui=e st st
T A Tl Eere

(A) 432-25 Tafm s (B) 430-25 fufem s

(C) 443-25 Tafym sEm (D) 434-25 Tafem o

The Asian Development Bank recently approved what amount of loan to increase renewable
energy capacity and improve energy security in the State of Assam?

(A) $ 43225 million (B) $ 43025 million
(C) $ 443:25 million (D) $ 43425 million

18.

18.

cwrt-—2025/P-11/ 302-B 12

1942 59 “SIT® Gjl5] Ve’ ® ol (IS 1D T (2fee 2

(A) (TE @R (B) SR @
(©) P T (D) T T
1942-93 “ORS T[T TR - FICHF (PTG FI0T (TS BT 2
(A) NN R (B) ORI (reA
(©) Prfer g (D) T TR




18. 1942 WEAREM WA AT AHEERAE 376 TMERH G- GH@! Bl H™ STEHE
(A) THER iR (B) WfOWm ¥
(C) Tt gad (D) FEA Hia
18. Who among the following was hanged in the ‘Quit India Movement’ of 1942?
(A) Gomdhar Konwar (B) Maniram Dewan
(C) Piyoli Phukan (D) Kushal Konwar
19. SPIE 9l (I G4 O S8eIgR SNl o1eg 2
(A) SO S FILEC (B) SO S TR
(C) JFACT! S TR (D) TRITIE S B
19. SPTCRR R (IR 46 (weeR SIBeAIE R SNl qeAeR 2
(A) O € TIRETC (B) TOM @ AR
(C) RENC € IR (D) TRFEE S B
19. WS o6l T gTaTel glet o o 37
(A) T AW TR (B) M 3N FHFHR
(C) AR AR RIHER (D) TFER AW =
19. Assam has international boundary with which two countries?
(A) Bhutan and Bangladesh (B) Bhutan and Myanmar
(C) Bangladesh and Myanmar (D) Myanmar and China
20. ©EF ITEH +11-37C5] THFS (27
(a) e (B) oo
(C) Tfwre (D) SPT®
20. ORI J7H n-arih wEe
(A) R=ca (B) ~MoR<CH
(@) G (D) =PI
20. WRAM T om e 3
(a) foerm= (B) M s A
(C) ShemmE (D) ITEHTE
20. The largest river island in India is situated in
(A) Bihar (B) West Bengal
(C) Odisha (D) Assam
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21. SHE TS @R ARG T @ 2
(A) fesa ffeg (B) $Cowa AW
(C) MO M «Irey] (D) To ¢b. GI*RFI
21. THCST IEAN TG-S 17 & 2
(A) Tcad fiferg (B) $eowE A
(C) =9I 2P «Jrew] (D) . 9. E*FS
21. YXAH g4 External Affairs Minister 31 ®R?
INIREERTEE (B) U= 1ea
(C) STTd JehTeT ATET (D) To THo ST
21. Who is the current External Affairs Minister of India?
(A) Kiren Rijiju (B) Bhupender Yadav
(C) Jagat Prakash Nadda (D) Dr. S. Jaishankar
22. Z-Morh &% (TN 33%) fEwre worq Sfecar e 54
1. 3 (ofewet I e bl O |
2. 65 km TI¥e] O] G- PIAGE AT S G ST AS PR |
3. 3%l National Highway Authority of India-9 OgK«© 2|
S (FICO1/ (FIER i Al 2
(A) (FIENE 1 I 2 B) <@ 1
(C) <eg 2 I 3 (D) <eEg 2
22. Z-Morh % (T 7v%)-«3 ey Tevx Sfesfer Keavan s

1. «fb e sTee ameas 9(b o |

2. 65 km T 5[0 & G91 FIACTA A0 G- T ST LS FCACR |

3. 3% National Highway Authority of India-3 OGRS SE9(S |
ea @ e /el 7 2

(A) NG 1 @R 2 (B) &g 1

(C) FITNE 2 dR 3 (D) FIe™E 2
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22. Z-Morh ZHA (8 TMEE ZHE)E AH A TR et e a
1. &9 SN T Teee TE S|
2. 65 o fifo et & 2w SFY AR RIS AR TR &AM SAEIerE! BIATSTE! |
3. 99 YSiHeE! UG AYNd g15d AU 31 gf=amn|

UIEICICRAEIDECEREE (RAEE IR
A) 1R 2 A (B) 1 3
(C) 2 M 3 el (D) 2 e’

22. Consider the following statements regarding the Z-Morh Tunnel (Sonamarg Tunnel) :
1. It is a part of Zojila Tunnel Project.

2. The 6'5km long tunnel connects Gagangir and Sonamarg region in Jammu and
Kashmir.

3. The project comes under the supervision of the National Highways Authority of India.
Which of the statements given above is/are correct?

(A) 1 and 2 only (B) 1 only

(C) 2 and 3 only (D) 2 only

23. OO A . 2. (Al) [ FEL 2

(A) FEIl (B) =ICaR

(©) fra (D) CTHELF
23. SRCeF 2% Q. 3, (Al) 75 0 ?

(A) el (B) =ICH!

(©) fra (D) (T
23. TEAM &1 YRaH e Al @&1?

(A) heTehrdr (B) @3

(© fei (D) chregE
23. Which of the following is the first Al city in India?

(A) Kolkata (B) Lucknow

(C) Delhi (D) Bengaluru

24. ‘@IFEE0+’ (Copilot+) I4To[, T'T Al-2jfeq @@l S ‘FFe’ (Recall) IR AR R,

D! 2R @i qaifes 2
(A)  GETFICID (B) «co=
(C) b= (D) Z&F 56

24. @A & @R 9. TR (Al)-Tme FREIRE @R S AFARE (Recall) @RERS
‘@I2e5+ (Copilot+) FF#THR BIe] FCACZ 2
(A) STERFICID (B) SWICHE
(C) i (D) ECFTEE
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24. ‘Copilot+ =R, SE AI-HTed TS T97 ‘Recall’ TETH @19 &, @l 590 SHEATHAT SHRIGEH?
(A) TETHIsE (B) 3T
(C) TR (D) W3 a9

24. Which tech company has launched ‘Copilot+’ PCs with Al-enhanced functionality and
a unique Recall’ feature?

(A) Alphabet (B) Apple
(C) Acer (D) Microsoft

25. T SFEF (L5411 97T F61), 2024 (FIC S FR 2

(A) T P (B) =

(C) TR (D) o fféfq (ral Tl
25. A SEE (220 (T ~FFE), 2024 (F S FCARCE 2

(A) TN PR (B) I« (7al

(C) TS (D) ©. Aff odt e
25. ¥R Green Oscar (Whitley Gold T4IT), 2024 @I 3SEGHA?

(A) T AR (B) =

(C) Forgfd (D) o gfifar &t wria
25. Who received the Green Oscar (Whitley Gold Award), 2024?

(A) Raman Sukumar (B) Brindha Devi

(C) Krishnamoorthy (D) Dr. Purnima Devi Barman

26. (I B PRy [} afs@m, 2024 = FfRfes 2

(A) WHO (B) UNICEF
(C) UNDP (D) World Bank
26. I RFM By 28 2w, 2024 27m Fafe ?
(A) WHO (B) UNICEF
(C) UNDP (D) World Bank

26. ¢ TMYAT Child Nutrition Report, 2024 @ STa€! HIETEE! ¢
(A) WHO (B) UNICEF
(C) UNDP (D) World Bank

26. Which organization released the Child Nutrition Report, 2024?
(A) WHO (B) UNICEF
(C) UNDP (D) World Bank

cwTt-2025/P-11/ 302-B 16



27. P4 W FRTO! 6B, 20247 WO 18097 (7 fooTe S Zie H1 2

(A) 159 (B) 152 (C) 150 (D) 161
27. Py M FETO A5, 2024 SR 18016 WA T SR Bl F© ?

(A) 159 (B) 152 (C) 150 (D) 161
27. World Press Freedom Index, 2024 37, 180 T B ST A JTfe= |r?

(A) 159 (B) 152 (C) 150 (D) 161
27. In the World Press Freedom Index, 2024, what is India’s rank among 180 countries?

(A) 159 B) 152 (C) 150 (D) 161
28. ‘GO (PG Mool @t (A Ao 1 27 2

(A) «&€F9 9 B) «&=FT 7

(C) “TF9 5 (D) <9< 3
28. ‘GOR AR Aol W I I TN 27 2

(A) «CeFF 9 (B) «CeF9 7

(C) TCeHA 5 (D) %4 3
28. HHER AU Gl Alscl Wil ?

(A) 9 TR (B) 7 TR

(C) 5 Ta=R (D) 3 7w
28. When is ‘National Cancer Awareness Day’ observed?

(A) November 9 (B) November 7

(C) November 5 (D) November 3
29. fs TR ‘@ARE (@’ (Jonbeel Mela) (Pl fEeie e 23 2

(A) wReTs (B) =l

() foar (D) CoNeTIEIn
29. 2f® =g ‘(SR (Tl (@I (SR S[D0 27 ?

(A) wfRele (B) arsMl

(C) foamr (D) ¢olrerad
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29. FEH SHIA Hel (Jonbeel Mela) @ ATe SeT=ma GH-m S ?

(A) wfama (B) STeRdT

(C) e (D) e
29. In which of the following districts is the ‘Jonbeel Mela’ held every year?

(A) Morigaon (B) Baksa

(C) Chirang (D) Golaghat
30. ‘P i’ (@fo TR 4 21 2

(A) 25 SRR (B) 21 (e

(C) 17 SFEIRT® (D) 14 ETT©
30. ‘fE Wt S TIPS =W 2

(A) 250 SR (B) 214

(C) 172 SRRl (D) 143 wCeTq
30. ‘fIredt feam @t Arsel Wifer T SIE?

(A) 25 SFaREE (B) 21 "™

(C) 17 STgarETE (D) 14 vl
30. ‘Silpi Divas’ is celebrated on

(A) 25th January (B) 21st May

(C) 17th January (D) 14th November
31. PN TP FREABER (Gl F'© TS ?

(A) @IE0e (B) fremTee

(C) e (D) @AEGS
31. P AMferd e’ (TR [ 2

A) sFERIbre (B) f=eTIeica

(C) =ai1s-9 (D) @RI
31. ‘T TEEEl SMYHHTCT AT HISATE &7

(A) TETETRE (B) fRrerEmR

(C) -E (D) &R
31. Where is the ‘Assam State Museum’ located?

(A) Guwahati (B) Sivasagar
(C) Nagaon (D) Jorhat

cwrt-—2025/P-11/ 302-B 18




32. ASTC-3 9igf 2’7
(A) SR (R CGier FeAficane (B) W= (Y (bpel =1 & ibel
(C) =M= (8% (G7"D FCAlCasa (D) = (BG (Gree Feeficava
32. ASTC-«3 5%f 3Cal
(A) SIPIN OBb (G FCoficamm (B) SIPIN (66 (GRS el
(C) SIPIN (355 GTCAD Feoficae (D) TP (55 Ficeet FCAAci=
32. ASTC 4 27iforn et
(A) 3E W2 e e (B) TTETH T2 o Sl HiHE
(C) 3TEH W2 TH9E HIRET (D) 3TEH W2 9 FIRET
32. ASTC stands for
(A) Assam State Trading Corporation (B) Assam State Technology Commission
(C) Assam State Transport Corporation (D) Assam State Travel Corporation
33. TR Fch bl % (ol 727 2
(A) TSl (B) ffer™
(C) form (D) G cEw
33. fcy Sl @i Mg som w2
(A) TSl (B) fefer™
(C) Frm (D) “TRCGCE
33. TR w6 HHEAT SRS 19 (inert gas) TET?
(A) 3w B) Teferam
() T=m (D) ATEe’SH
33. Which of the following is not an inert gas?
(A) Argon (B) Helium
(C) Neon (D) Nitrogen
34. 1894 HTe SPTE IS [CUR (T 912e =ube (afee ?
(A) T=7F (B) TWIeg
(C) “==FHb (D) cofmgfer
34. 1894 e SPICHH FIS [CUIR (T B DS 2R 2
() o= (B) =g
(C) ~NRFEG (D) cofmrgfer
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34. 1894 UHEUTEH AEMA ATETETR ARIEHRT &1 SeHH?
(A) eI (B) zFT=TY
(C) HIeRETe (D) <feramgfet
34. The Peasant Uprising of Assam in 1894 took place at
(A) Gohpur (B) Yandaboo
(C) Patharughat (D) Dhekiajuli
35. 79 2. . 5. T20 RpeFi7l, 2024 @ P ({EET Z[THQ S FRA 2
(A) STPIR M (B) G&fes @
(C) Tz Iar (D) TR G&=1e I2%
35. 7[R W3, B 1. T20 feeiol, 2024-9 & W (JCERICS 277 fGrefeee ?
(A) TR T (B) Tfew zu
(C) eMfere ol (D) U@ (Y3 T
35. TETHRA ICC T20 World Cup, 2024 19 GR A€ Tl Somat qi=eme?
(A) FEFA e (B) 3w we
(C) v gue (D) foraRfy e Tt
35. Who won the best player award in the ICC Men’s T20 World Cup, 20247
(A) Suryakumar Yadav (B) Travis Head
(C) Jasprit Bumrah (D) None of them
36. 2034 H9 FFl [Pediel 70 Soe 2°9 2
() =R B) G =<
(C) ISl (D) @3CARA (FICANCHICER 727
86. 2034 =T ] fRPuiel (I oo 2eq 2
A) oM (B) T ==&
(C) Tl (D) «sfR @Fhe T
36. 2034 T FIFA ¢ M1 S99 SIMTA?
(A) T (B) Hife stfern
(C) HHTET (D) SR H=He TST
36. Where will the 2034 FIFA World Cup be held?
(A) Spain (B) Saudi Arabia
(C) Canada (D) None of these
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37.

37.

37.

37.

@ e “(BeTS fiRze-6" (97, 99.-6) TeRE FffRe 2

(A) SR (B) @Il
(C) °® (D) B

THIEIS fPIRe-6 (991, G9.-6) (T (7 THR FCAReT 2

(A) SR (B) &7
(C) °F (D) =

Standard Missile-6 (SM-6) @l &l g0 fegAamH ¢

(A) AR (B) SIUH
(C) ¥ra (D) =

Standard Missile-6 (SM-6) was developed by which country?
(A) USA (B) Japan
(C) India (D) China

38.

38.

38.

38.

1. @9, “IChe] (I TR 7 DRI 1 (207 2
(A) 2y fReere e

(B) o S A<paNR > TFeT

(C) NI R S I TGER

(D) 92 sl =< o1 2IfEae T

2T -7 (7O (PM-SURAJ Portal) (1 TZRICHA @141 ARGl 41 27 2
(A) 2 e e

(B) A R I *IE TG

(C) THIEF R GIR AT TG

(D) 972 fosfiel 3R <191 2ol Tger

PM-SURAJ Portal 3T 99 Ministry Sl STeTaSIal ¢

(A) Ministry of Rural Development

(B) Ministry of New and Renewable Energy

(C) Ministry of Social Justice and Empowerment

(D) Ministry of Housing and Urban Affairs

PM-SURAJ Portal is implemented by which Ministry?
(A) The Ministry of Rural Development

(B) The Ministry of New and Renewable Energy

(C) The Ministry of Social Justice and Empowerment
(D) The Ministry of Housing and Urban Affairs
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39. 2024 t1 =3, 7. @a1. AfScafrers @ SRy @ e IR 2
A) SfeEs = (B) &% &fer
(C) fazg P (D) TR qeCl 723
39. 2024 AR W2, 7. @91, AfSEfaor & Sy 91 3 FCame 2
(A) SIS *mf (B) @i wrefar
€) &g fr (D) GTHE (FT3
39. @R TififEn IPL, 2024 T4 ‘Orange Cap’ @ SERHA?
(A) 3Tl ymi (B) forre wreeht
€) T & (D) foraRs | Tt
39. Which player won the Orange Cap in IPL, 2024?
(A) Abhishek Sharma (B) Virat Kohli
(C) Rinku Singh (D) None of them
40. 2025-2026% (I 443 OGRS @R ACHHI S TS FECZ ?
(A) e (B) 2y faepml
(C) SRR @@ (D) lfeT=
40. (T 4TS 2025-2026 ACER TR ICECH FACACE @ =¥ 1 T 200 ?
(A) PE (B) ey e
(C) SRR & (D) =lfem=
40. 99 WK (Sector) 2025-2026 H aeiea Ffgs SifeA STm Al ?
(A) HicA9Tg (B) T S
(C) R T (D) L@ty
40. Which sector has received the highest allocation in the Budget for 2025-2026?

(A) Education (B) Rural Development

(C) Indian Railways (D) Defence
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41. I 9b1 fageq ofi Tafeq gad o Tafes T4 2x 99 2, (908 (qeetR Fifl 2’7
(A) 8x? 3o 435 (B) 2x?2 35f @35
(C) x? 3o @3 (D) 4x? 9of 4
41. I @3 fagees o o Tafen Bwe o Tafen IM 2x 435 =, T2 [@geivg CFazsl 2
(A) 8x? 3o ¢35 (B) 2x?2 35f @35
(C) x? of 4 (D) 4x2 95 9o
41. UHY ATET-UAEH S SREET SHAEH 3 T | Seal SHAEH 9H1 2x 9 S, 1Al STRaT-emiH
SHTferaT ST
(A) 8x? =i "l (B) 2x? =i "R
(C) x?2 =i wrfe (D) 4x? =uf wrfe
41. If the base of a triangle is twice its altitude and the altitude is 2x unit, then the area of the
triangle is
A) 8x2 $q. unit (B) 2x?2 $q. unit
(C) x? sq. unit (D) 4x? sq. unit
42. e (P 9Bl fages fofbl ares (w19 2’9 TR 2
(A) 5 =sfs, 10 czsfie, 6 c=afis (B) 14 czsfie, 7 czsfie, 8 cmefis
(C) 10 czsfie, 20 czsfie, 8 cmafis (D) 30 czsfie, 20 @afie, 12 czsf¥e
42. Teod @ T @ fapeem fonfs e e 2o #Aied =1 2
(A) 5 eisfie, 10 Giefie, 6 Gisfe (B) 14 ¢Tefz, 7 orefie, 8 oisfye
(C) 10 (Tefz, 20 Ciefiig, 8 Gisfye (D) 30 (Tefz, 20 GTefz, 12 ¢Tafe
42. TEEN F6 GEEA OFY AT FHgm marAfT swEr ST g
(A) 5 "o firo, 10 To ﬁ-TO, 6 Fo firo (B) 14 Fo ﬁIIO, 7 Wo ﬁ:lO, 8 Wo firo
(C) 10 "o o, 20 Fo o, 8 Wo fio (D) 30 Fo o, 20 Fo o, 12 Fo fio
42. Which of the following cannot be the measures of three sides of a triangle?
(A) Scm, 10 cm, 6 cm (B) 14cm, 7 cm, 8 cm
() 10 cm, 20 cm, 8 cm (D) 30 cm, 20 cm, 12 cm
43. ‘Y5l T YA TRYE Q@I 48,77 2 TSCHI 2™ IR 2[1 FNFIED! 277
(A) (x+1)+(x+2 =48 (B) x+(x+1)=48
(C) x+(x+2) =48 D) (x-D)+(x—-2)=48
43. ‘7t e s AW @I 27 48,77 3 TS v @ TN AT 70 2
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43. A4 BN SR AR aeersa 48, o fogfinat BRATH SR ST Shat
(A) (x+D+(x+2) =48 B) x+(x+1)=48
C) x+(x+2) =48 D) (x-D)+(x—-2)=48
43. “The sum of two consecutive odd numbers is 48.” This statement can be expressed in
equation as
(A) (x+D)+(x+2) =48 B) x+(x+1)=48
(C) x+(x+2) =48 D) (x-D+(x—-2)=48

44, x-S GF y+2 =0 @UEE Teq 799G G 2
(A) 2 T3 (B) 3 <5
(C) 4 &3 (D) 1 <5

44. x-F @R y+2 =0 @HI TG 777G F© ?

A) 2 &5 (B) 3 9FF
(C) 4 9FF (D) 1 9FF
44. x-f99’ I y+2 = 0 TWIH ToRA THATE FT=TT7?
(A) 2 @R (B) 3 @
(C) 4 wrfe (D) 1 ¥R
44. What is the distance between the x-axis and the line y+2=07?
(A) 2 units (B) 3 units
(C) 4 units (D) 1 unit

45. 1289 T #9(@ & TPTR IR (9 FIACE B 61 7Jofof 70 =77 2

(A) 1 B) 7 () 13 (D) 16
45. 1289-97 et A (P TR @9 Fcs1 Gfb @M jofaof 151 29 2
(a) 1 B) 7 (C) 13 (D) 16

45. 1289 S H1 GAMH AR ISTaleett HIAE 217 &7 SFTH ¢
A) 1 B) 7 (C) 13 (D) 16

45. What is the minimum number to be added to 1289 so that it becomes a perfect square?
A 1 B) 7 (C) 13 (D) 16

46. <5l MNBRIT TN A THOR T FCH 5 cm AF 3 cm. ARO[ Fifel Sferea |

(A) 30 cm? B) 15 cm?
(C) 7'5 cm? (D) 15 cm
46. I AR TR 972 TS T 5 cm R 3 cm. SR CFas] folefa T |
(A) 30 cm? B) 15 cm?
(C) 7'5 cm? (D) 15 cm
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46. T fomTasesy g I S M BRE 5 cm 3R 3 cm. forTesae wifer fag |
(A) 30 cm? B) 15 cm?
(C) 75 cm? (D) 15 cm

46. The base and height of a parallelogram are 5 cm and 3 cm respectively. Find the area of
the parallelogram.

(A) 30 cm? (B) 15 cm?
(C) 7'5 cm? (D) 15 cm

47. T2[ 10% 9 o9 TG (FICT T4 [FI0 20 799 279 2
(A) 2 q=T© (B) 5 qzT®
(C) 10 I=q9 (D) 20 =<

47. QST 10% JE 0 2K (FICT GF o4 9 q=eq 7990 203 2

A) 2= (B) S =A
(C) 10 d=F (D) 20 9=
47. FENE 10% TR GaH X O fiifer Sren S8et sS|ie e S
(A) 2 STERE (B) 5 SR
(C) 10 ERE (D) 20 ERE
47. In how many years will a sum of money be doubled itself at a simple interest of 10% p.a.?
(A) 2 years (B) S years
(C) 10 years (D) 20 years

48. ATF B @ IA@E 10,000 551 IF 6,400 5 T GBI M7 07 S_S FE¢e | 5 29 Plge A @
3,000 551 TI 1°CeT TIF B @ (9€F ILXF 3197 IF 600 51 @9l et | B @ AfGT wiRwig B
e #MeT 10% (T 2617l 3 9 | G9%IT J9© Yo #[® 16,000 51 2'¢51 BT wroi e 2742

(A) 6,480 51 (B) 7,920 51
(C) 8,080 Bl (D) «3ERT GBS T2

48. A 932 B TY&CE 10,000 BIFl @32 6,400 Bl e @36 Ima 07 WF F@ | 5 WO 7K A
3,000 5= $¢31 ¥ @3k B feicem [t Srece =icE 600 S @il 36 | B e wkfine 2T
T ST 10% (@O BT 21 | @F IF 27 (N6 &S 16,000 BIFT 2¢&1 B-IF TN F© 3¢ ?

(A) 6,480 Gl (B) 7,920 Bl
(C) 8,080 Gl (D) «zfE @3he T
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48.

48.

A W B 3 %A 10,000 T AW 6,400 T M TFH SEENEIN BIATH SMESHaE | 5 M 39
A 3T 3,000 T SEHET ™ AR B 3 MEM SEFlS TR 600 T SEE | B 311 HEgal Swermim
TR SR AR 10% ST Hel W | SERA 39 T JAwsET 16,000 T SEsar, B

AT STETTT S8 S ?
(A) 6,480 T (B) 7,920 T
(C) 8,080 T (D) SR HEHE AT

A and B started a partnership business investing ¥ 10,000 and ¥ 6,400 respectively. After
5 months, A withdrew ¥ 3,000 and B added ¥ 600 to their investment. Being active partner,
B gets 10% of the annual profit as salary. If the profit at the end of one year is ¥ 16,000,
the share of profit of B will be

(A) ¥6,480 (B) €7,920
(C) 8,080 (D) None of these
49. ¥ ey 41
2 1 2
3‘(‘3]+(‘29)
11 11 17 17
(A) o (B) 5 ©) o (D) Y
49, = e FC
2 1 2
33 (23)
11 11 17 17
(A) o (B) 5 (©) o (D) Y
49. wH fogd :
2 1 2
2 (-3)+(22)
11 11 17 17
A 5 B -5 © D) -
49. Find the value of

s

11 11 17 17
A) = B) -— c -~ D) --%
(A) 9 (B) 9 ©) 9 (D) 9
50. TFF AANCHLOIA T ool 5
32, 32, 34, 35, 35, 38, 42
(A) 32 (B) 38 (C) 35 (D) 42
50. e el T e e -
32, 32, 34, 35, 35, 38, 42
(A) 32 (B) 38 (C) 35 (D) 42
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50.

50.

TRTEM SARNHERA TSRAT (Median) fogT :
32, 32, 34, 35, 35, 38, 42
(A) 32 (B) 38 (C) 35 (D) 42
Find the median of the following numbers :
32, 32, 34, 35, 35, 38, 42
(A) 32 B) 38 (C) 35 (D) 42

51.

51.

51.

51.

o9 T2 10% SaFgim 0@ 100 57 2 =T Jq© Jo AR 270

(A) 121 51 (B) 221 5=

(C) 111-21 5= (D) 12121 5

100 BRFl 2 I AT 10% Sargan 2ICH IS 20T (W16 IS Lo=i¥= #[f=1e 2¢q
(A) 121 B (B) 221 Bl

(C) 11121 5= (D) 121-21 5=

FERE 10% FRE 100 UH FER 2 T SREemHm a1 SeH

(A) 1211 (B) 221 T

(C) 11121 T (D) 12121 T

The amount on compound interest of ¥ 100 for 2 years at the rate of 10% per annum is
A) T121 (B) ¥221

(C) T111-21 (D) ¥121-21

52.

52.

52.

52.

Im p WFE gF AT, AF AALY. INGFH 7 AF s 2/, (WCB p, g r AF s3I AL, (AR
(p, q e TSI FR4T)

(A)  pg (B) ar (C) sp (D) s

p ER g€ ALY, IR FALY. INFE r GR s 2@, p, g r CR s G AL, TJ (p, ge FORT
R

(A)  pg (B) ar (C) sp (D) s

p 3R gf Fo 3o Ho AW o Mo Ho 3T FINA r W s AT, p, g r 3 s go 30 370 3w ™
STA (p, g  Toform srafsmn) ?

(A)  pg (B) ar (C) sp (D) s

If the HCF and LCM of p and g are r and s respectively, then the LCM of p, g r and s is
(p, g€ natural numbers)

(A) pg (B) gr (C) sp D) s

53.

53.
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ﬂﬁx+l:7§§l, (o3 x2+%<W§’ﬁ
X

X
(A) 49 (B) 40 (C) 42 (D) 47
M x+ L = 79, @ x2 + g T A
pe x2
(A) 49 (B) 40 (C) 42 (D) 47




53.

53.

‘gﬁ’x+i=7sna“f, el x2+%ﬁﬁﬂ'{?ﬂ'ﬂ'ﬁ:{
X

X
(A) 49 (B) 40 (C) 42 (D) 47
If x+l= 7, then x? +i is equal to

X xQ
(A) 49 (B) 40 (C) 42 (D) 47

54.

54.

54.

54.

1 9 %[0 25 &1 GRS S FRCA (01T (20-

(A) 325 (B) 200 (C) 169 (D) 89
1 (TP 25 A% FNF A FRAIBFR (9T 29

(A) 325 (B) 200 (C) 169 (D) 89
1 fwrr 25 fom o ssm wift saffs ST Srat

(A) 325 (B) 200 (C) 169 (D) 89

The sum of the odd consecutive numbers from 1 to 25 is
(A) 325 (B) 200 (C) 169 (D) 89

55.

55.

55.

55.

weTq Tfeed (SOl Ofe wm w=d 2

(A) ATSCH! A (XTIeF) FA5B. @BT Frelfa 2= |
(B) SIGROCE 7 FOIRS R 27 1.

(C) O @bl 7Jef 1.4 |

(D) =fSCh! Freifad 7Rem2 BT I R4 |

o Sfeeslr T @ SfEh wa w2

(A) =SB I (4rerp) RN GG FreIRS F4 |
(B) “Fued Frelis A 2@ 1.

(C) 0 @b =f A4y |

(D) =fefb Freifas sz @b 3o 72|

TR FRmRE TR o« gitEn 6 T=T7

(A) THFBM SR (Positive) Afemman fafdmm smfsmn)
(B) =Tz qafem faferm smimm 1.

(C) O 3T UHY 31Tg TSI

(D) A% Tafeem srfsmmen s/ emfem |

Which one of the following statements is not true?

(A) Each even (positive) number is a natural number.
(B) The smallest natural number is 1.

(C) O is a whole number.

(D) Each natural number is an even number.
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56. MW b T o0 200 5 = AF (2R 10% 2, (S0 TEHE A 2= W3 w190 4o 21l ='7
(A) 90 B (B) 190 5=l
(C) 80 5 (D) 180 5=
56. I @3 I%F WN 200 G 27 €} OF T 10% T AT, O2Ce R Foce (@Fors Fo 7N e
27
(A) 90 Il (B) 190 B
(C) 80 i (D) 180 B
56. Jfe A a1 AT 200 T SR TR 10% T =, JATH ATE SRR 241 T ST ST
(A) 90T (B) 190 T
(C) 80T (D) 180 T
56. If the price of an article is ¥ 200 and the rebate on it is 10%, then the customer has to pay
for this article
(A) ¥ 90 (B) ¥ 190
(C) ¥ 80 (D) ¥ 180
57. AW 460 5F W 10 T 77, 16 T{IF A2 WF 2051 Fre7 qee W ©lsl [ e, (908 Aros
CIIRT SHF AR 2]
(A) 10 5 (B) 16 B
(C) 20 B (D) 46 B
57. AM SME 460 BIF 10 & 7, 16 & W2el @32 200 Frew o e s ©ls e R, o
AT TICol F© DI SPIA 2
(A) 10 SR (B) 16 BrFl
(C) 20 B (D) 46 GBIl
57. Sf< S W1 10 a1 gHG, T 16 TS gHE AR @ 20 1'F wEE 460 W@ @EE TEAT S,
AIHMT STErni feereT s
(A) 10T (B) 16T
(C) 20T (D) 46T
57. If we divide ¥ 460 among 10 men, 16 women and 20 children equally, then the share of
each one will be
(A) ¥ 10 (B) ¥ 16
(C) ¥ 20 (D) T 46
58. 3 22X+ 14 =87y, (W@ x I T 2]
A) 1 (B) 2 (C) 3 (D) 4
58. A 22%*1 + 4 = 827, TFCHA x-9F T 3J
A) 1 (B) 2 (C) 3 (D) 4
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58. Ssctl 22X*1 £ 4 = 8 SN, 3l x T3 AT SFTA

A) 1 (B) 2 (C) 3 (D) 4
58. If 22**1 .4 = 8 then the value of x is

@A) 1 (B) 2 € 3 (D) 4
59. werq (FCH! aNfifes Tfe wm 2

@ - B 2<> © 2<2 o 2=
59. T @ anfifes TRE w7 2

@ -2 B S<2 © <2 o -
59. TEEM & WY AT e oam?
59. Which of the following mathematical statements is correct?
60. @WFV{W%W%WQW?’?, Ffiice

(A) a+b=c+d (B) axb=cxd (C) axd=bxc (D) a+d=b+c
60. zﬁﬂﬁmﬂw%@gww@@m,w

(A) a+b=c+d B) axb=cxd (C) axd=bxc (D) a+d=b+c
60. ﬁﬁm@awmﬁm%aﬂﬁgaﬂww,m

(A) a+b=c+d B) axb=cxd (C) axd=bxc (D) a+d=b+c
60. Two rational numbers % and 2 are equivalent if

(A) a+b=c+d B) axb=cxd (C) axd=bxc (D) a+d=b+c
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61. Choose the odd word from the following.
(A) Agitated (B) Aggressive

(C) Rowdy (D) Submissive

62. “O my Luve’s like a red, red rose” is an example of a
(A) simile (B) metaphor

(C) metonymy (D) personification

63. What is the meaning of ‘cost an arm and leg’ ?
(A) Very expensive (B) War damages

(C) Total destruction (D) Medical surgery

64. Choose the correct option to fill in the blank in the following sentence :

“He was so hungry that he could wait to wash his hands.”
(A) rarely (B) often
(C) seldom (D) hardly

65. Choose the correct option to fill in the blank in the following sentence :

“Can you tell me the truth?”
(A) why did you not speak (B) that why did you not speak
(C) why did not you speak (D) why you did not speak

66. Choose the correct option to fill in the blank in the following sentence :

“The train before we reached the station.”
(A) had left (B) left
(C) has left (D) was going to leave

67. Choose the correct article to fill in the blank in the following sentence :

“He is MA in English.”
A) a (B) an
(C) the (D) No article is needed

EIRE
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68. Choose the correct question tag to complete the following sentence :

»

“She is going there,
(A) isn’t she? (B) is she?
(C) doesn’t she? (D) isn’t it?

69. Find the incorrectly spelt word.
(A) Conductor (B) Conductance

(C) Condusive (D) Confusing

70. Choose the correct option to fill in the blank in the following sentence :

“When I met Rajat in Mumbai, he teaching English for four years.”
(A) is been (B) has been
(C) have been (D) had been

71. Fill in the blank of the following sentence with correct option :

“Assam has tremendous potential investors in service sector.”
(A) of B) in
(C) at (D) for

72. Choose the correct passive form of the following sentence :
“She is writing a letter.”

(A) A letter is written by her. (B) A letter has been written by her.
(C) A letter is being written by her. (D) A letter is writing by her.

73. Choose the correct option to fill in the blank in the following sentence :

“She is than any other girl in the class.”
(A) tall (B) the tallest
(C) more tall (D) taller

74. Choose the correct indirect speech of the following :
She said, “I have finished the work.”

(A) She said that she has finished the work.
(B) She said that she would finish the work.
(C) She said that she finished the work.

(D) She said that she had finished the work.
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75.

Choose the correct option to fill in the blank in the following sentence :

“l asked him so lazy.”
(A) that is why (B) why he was
(C) that why he is (D) that why is he

76.

Choose the correct option to fill in the blank in the following sentence :

“He always claims to be everyone in his company.”
(A) superior than (B) superior to
(C) superiority over (D) All of these

77.

Which of the following is incorrect ?

(A) A swarm of monkeys (B) A caravan of camels

(C) A pack of wolves (D) A colony of rats

78.

Which of the following words is closest in meaning to the word ‘abundant’ ?

(A) Scarce (B) Difficult

(C) Barren (D) Ample

79.

The phrase ‘stem the tide’ means

(A) save (B) stop

(C) touch (D) spare

80.

The antonym of the word ‘callous’ is

(A) casual (B) sensitive

(C) soulless (D) strict
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81.

81.

81.

81.

T HRYEICHR 2PN IS TS RS o1 Tfere
99,102; 51,54; 27,30; ?,?
&) 12, 15 B) 15, 18 (©) 10, 13

fferfie 22@ba 2PeiEs 2IcT TR FROICST! 0 (T8 I
99, 102; 51,54; 27,30; ?,?

A) 12, 15 (B) 15, 18 (C) 10, 13
TERTE BT ST dreieal T SFRHE STt e

99, 102; 51,54; 27,30; ?,?
A) 12, 15 (B) 15, 18 (C) 10, 13

In the following series, select the related number pair :

99, 102; 51,54; 27,30; ?,?

w

(A) 12, 15 (B) 15, 18

—_—

C) 10, 1

(D)

18,

18,

18,

18,

21

21

21

21

82.

82.

82.

82.

worq e Wed wiwet aest iz Sferea |

(A) ‘ (B) A ©

ewa Pawfr S fRerafe < Bt @z e |

(A) ‘ (B) A ©

TR WA TSR TRIfs drami drrg =1 g |

) A -

Find the odd figure from the following.

NV

(D)

(D)
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83. WWWWWWW@W@T:

(B) 175 225 (D) 150

83. fare Pl cwﬁq@wnﬁ@@mw:

(B) 175 225 (D) 150

83. TN WEMNGRH TSHE™ THHE sHfSHE! @’

(B) 175 225 (D) 150

83. Select the missing number in the given diagrams :

(B) 175 225 (D) 150

84. oY HAERT e[ e Baco! Az TSferea :

(o]
) ® | o= © ||=o D) %

84. Ao foaafem ey foRarfs o foafd @z e -

(@]
) ® | o= © |[=o D) %
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84.

84.

TR ARG TSRHER TR dreamie! qrrg =1 e

O
(A) B) o:ﬂ © B:.o

Find the odd figure from the following :

(@]
(A) B) o:ﬂ © B:uo

(D)

85.

85.

85.

85.

g foacad 711 (2Pl ARAIC! MM Tfereq

6 4 5
A) 18 (B) 46 (C) 80
ore foasfe e [Rea A Fiv s

6 4 5
(A) 18 (B) 46 (C) 80
BT ATETRERA TSRAER THER At o

LN NN,

(A) 18 (B) 46 (C) 80

Select the missing number in the given diagrams :

LN NN,

(A) 18 (B) 46 (C) 80

(D)

70

70

70

70
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86. W2x3x4=432, SX6XT7=T765 7Tx8x9=987, ((B2Xx5Xx7="?

(A) 572 (B) 752 (C) 725 (D) 257

86. ﬂﬁ2x3x4=432, SXO6XT7=T765 7Tx8x9=987, OR(T2Xx5X7="7

(A) 572 (B) 752 (C) 725 (D) 257

86. ﬂ%2x3x4=432, SX6X7=765 Tx8x9=987, 3T 2x5x7="?

(A) 572 (B) 752 (C) 725 (D) 257

86. If 2x3%x4 =432, 5x6x7=765 7x8x9=987, then 2x5x7="?

(A) 572 (B) 752 (C) 725 (D) 257
87. ﬁﬁ"i‘fw
¢c E G I
6° 10" 14’ 18 —
P K K K
(A) 55 (B) 50 (€) o1 (D) 5
87. *[E 7 T :

@A) — B) — € = D) —

87. TI&I SR 317§ @Il

w £ B £ c X o X

87. Fill in the blank :
9 E G I

b

6" 100 14 18

a = B X & o £
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88. <Ie 212 7f =41 :

_ XX YX_ YY XY XXY

(A) XXXYY (B) YXYXY (C) YYXXY (D) YYYXX

88. EI 7Jf T :

XX YX_YY XY XXY

(A) XXXYY (B) YXYXY (C) YYXXY (D) YYYXX

88. TIQI ST 311§ @Il :
_ XX__YX_YY_ XY__XXY

(A) XXXYY (B) YXYXY (C) YYXXY (D) YYYXX

88. Fill in the blanks :
_ XX YX_YY XY XXY

(A) XXXYY (B) YXYXY (C) YYXXY (D) YYYXX
89. 14 212 7[5 4 :
Doctor : Hospital : : Teacher :
(A) School (B) Field (C) Industry (D) Laboratory
89. [ EI 7Jf T :

Doctor : Hospital : : Teacher :

(A) School (B) Field (C) Industry (D) Laboratory

89. TI&T S 317§ @Il :
Doctor : Hospital : : Teacher :

(A) School (B) Field (C) Industry (D) Laboratory

89. Fill in the blank :
Doctor : Hospital : : Teacher :

(A) School (B) Field (C) Industry (D) Laboratory
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90.

90.

90.

90.

Tt 5789 MANGBR FCFS GKPT =0 IF 2436 FRAG ALFS ALUR =W, (908 24539 FRLGHE
RFe F 277

(A) ALRUT (B) ALGUT (C) ALGTU (D) ALGRT

I 5789 MMM WF© GKPT =W @R 2436 RMHI MCFS ALUR ¥, OIRCA 24539 MR
RS F 2@ ?

(A) ALRUT (B) ALGUT (C) ALGTU (D) ALGRT

Sfe 5789 FNHRT GKPT i @dhe S 3T 2436 HMWRET ALUR 1 @ehe SR, 3teall 24539
srafsmrEn 71 Eehe ST Y

(A) ALRUT (B) ALGUT (C) ALGTU (D) ALGRT

If in a certain code 5789 is written as GKPT and 2436 is written as ALUR, how will 24539
be written in that code?

(A) ALRUT (B) ALGUT (C) ALGTU (D) ALGRT

91.

91.

91.

91.

7 SIS ZCFan! AR I, ACS T TFHCH! W7 =T :
6%4%9%15

W7 snfafes Pzl Fva e, T0e 2w TFah Wwa 27
6%4*%9x15

e TR fiffmerE e’ ST e qegs e SE
6%4%9%15

(A) - X, = (B) X, = = (C) = X, - (D) - = X

Select the correct mathematical signs to balance the given expression :

6%4%9x%x15
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92.

92.

92.

92.

o9 fOACBIR 291 (&FQ1 ALACH! MR Tforea :

B

(A) 2 (B) 11 (C) 4 (D) 18
erre foafb (e e TR ferioe e
(A) 2 (B) 11 (C) 4 (D) 18
BT GERTTETE THHER SHESEE g’
A) 2 (B) 11 (C) 4 (D) 18

Select the missing number in the given diagram :

(A) 2 (B) 11 (C) 4 (D) 18

93.

93.
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g POLICE ¥ QOMIDE f251c3 o141 23, (9¢8 DACOIT 3 [ 25icq fifia a1ifo
(A) EBDPJU (B) EADTOJ
(C) EADOJT (D) EBDOJT

7t POLICE-43 35(F® 2 QOMIDE, ©¢q DACOIT-¢F ALFS 24
(A) EBDPJU (B) EADTOJ
(C) EADOJT (D) EBDOJT




93. §fd POLICE @l QOMIDE % sl BIRAM, 3761 DACOIT ©l 3 & sl BILATIHAI?
(A) EBDPJU (B) EADTOJ

(C) EADOJT (D) EBDOJT

93. If POLICE is coded as QOMIDE, then DACOIT will be coded as

(A) EBDPJU (B) EADTOJ

(C) EADOJT (D) EBDOJT

94. 4T FR Pre TS SS O A RIS (@R AT O1& T 2, (908 7PIB! (FCTC T

2’97

w S| ® |8 © |2 o |

94. bz FoCH AFS SS focs RvTe (@e1ce e Faee Forgael i o onea a1 2

w S| ® |8 © |2 D) |

94, TSIH T foes@l foft wiemTHT grarsi oFise, St STRaHET Jamiet S

SS

w S| ® |8 © |2 o) |

94. If S S is drawn on a transparent sheet and folded on the dotted line, then what would

be the resulting figure?

™ S| ® |8 ° |2 o |
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95.

95.

95.

95.

T 51 71 10 TS WINE 2 W Fo1 gfod e [@E 4 76 o e e e wd | @2
AYRCRATS YT GO FIGTCICE (1 AT (el SowFs ¢ 2

(A) 60° B) 120° (C) 180° (D) 135°

TR KT e 10 G WINg 2 9 wer gt o [ 4 qher ¢ s (I weer
T | G2 IR T DI o] F© (Gl g7eq 2

(A) 60° (B) 120° (C) 180° (D) 135°

T TpaeT G 10 Fomerma S S At 3 for safaf 4 fimeta amfeam e o g
TSRS HUET ATETEe o9 feit fifaet?

(A) 60° (B) 120° (C) 180° (D) 135°

Ramya’s school starts at 10 o’clock in the morning, and after school she attends swimming
course at 4 o’clock in the afternoon. By how much degree does the hour hand move during
this time?

(A) 60° (B) 120° (C) 180° (D) 135°

96.

96.
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aﬁq@@ﬁ}aﬁﬁ%{ﬁ%ﬁ*ﬁ%—ﬁmmlwWq@@ﬁtﬁﬁ4<ﬁﬂ%—wﬁwmw ferefa

@ @ @

(A) 1 (B) 3 (€) 6 (D) 5

@ soefby foals f[fen fcea fou rem 2 | @ (2 ety 4-97 [e@e 2w FI 7= Wi,
feref ca -

@ @ @

A) 1 B) 3 (C) 6 (D) 5




96.

96.

HIH STEEH AL TFH A T Sami SFE Sl | SHwE SEa 4 7 3o v w1 i § fog
SH
&

A) 1 B) 3 C) 6 (D) 5

Three positions of a dice are given. Find out which number is found opposite to the number
4 in the given dice :

@ @ @

( (C) 6 (D) 5
97. woTe Tl 7% qMC3 TS W¥en! MR Tfere :
ABC : UVW :: DEF :
(A) XYZ (B) MNP (C) POR (D) GHR
97. G T~/(Fq & TR SRRl b e
ABC : UVW :: DEF :
(A) XYZ (B) MNP (C) POR (D) GHR
97. TERTE B HINRIGR AR SRS grarsrE! 9w 1 e
ABC : UVW :: DEF :
(A) XYZ (B) MNP (C) POR (D) GHR
97. Select the related letters from the following :

ABC : UVW :: DEF :

(A) XYZ (B) MNP (C) POR (D) GHR
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98. wore WAl AR 91 (&4 AACH! R Tfereay :

225 49 121

&) 4 (B) 21 (C) 20 (D) 5

98. s Pl (e Red )i (= @@ Fl

225 49 121

A) 4 (B) 21 (C) 20 (D) 5

98. THM FEMRERM TSHEGE MeHE FAivHmE 9’

225 49 121

A) 4 (B) 21 (C) 20 (D) 5

98. Select the missing number in the given diagrams :

225 49 121

A) 4 (B) 21 (C) 20 (D) 5

99. WY NILFCHN 2P I120 TR RO b1 Tferea
8, 24, 12, ?, 18, 54
(A) 18 (B) 36 (C) 46 (D) 38

99. FHFIR® e ercaies (?) T TR b 4o (9 el -
8, 24, 12, ?, 18, 54

(A) 18 (B) 36 (C) 46 (D) 38
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99.

MEAE FTE BIETE M T SHEE 9o
8, 24, 12, ?, 18, 54

(A) 18 (B) 36 (C) 46 (D) 38

99. In the following series, select the missing number :
8, 24, 12, ?, 18, 54

(A) 18 (B) 36 (C) 46 (D) 38
100. TRFIGI 13 Sy (2 SR 2

(A) S (B) 4 € 3 (D) 2
100. TG G5 7 B R ?

(A) S (B) 4 € 3 (D) 2
100. Wi S¥al B J M &7

(A) 5 (B) 4 (€) 3 (D) 2
100. How many cubes are unseen?

(A) S (B) 4 € 3 (D) 2
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SPACE FOR ROUGH WORK
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SPACE FOR ROUGH WORK
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SPACE FOR ROUGH WORK
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